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o oL data Ux=(A-550)/5(
L.=(Mot o)f2 logVo=-0,35[y~Us.]?
log 0=-0,35i-u ]?

|09|—o:‘0135[u)\‘us70]2

570 Adapt.: A, =570

maximum
=-0,08

thresholds
ta=0,00, $,=0,00

EE620-1N
Ux=(A\-550)/5(
log/Vlo=-0,35lu\—u 1
log 0=-0,35l-u 12
_0=1-Mg; o=1- o

Zaximum

e iog(L -m)=-0,08
\ L m=0,81
thresholds
¢ tg=0,00, =0,00

L
-
-1 1
500 600
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n n, Lin data
L. =(Mo+ o)/2=Mn+ n
Lin=L .=(Mnt+ n)/2

n nLin

3 U,
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700 A/nm
EE620-3N
Ux=(A\-550)/50
log)Vo=-0,35[y~U-.]?
log 0=-0,35lu-u 12
n=2Mo; n=2 o
Adapt.: A, =570
maximum
log(L |nm)=-0,08
Linm=1,63
thresholds
ta=0,00, £=0,00
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n _nlL_ndata
L. =(Mo+ o)/2=Mn+ n
L in=2-Lin

Ux=(A\-550)/50
logV15=—0,35u)—Us.]?
log ¢=—0,35[u)-u 12

n=2-VIn;, n=2- n
Adapt.: A =57
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7 iog(L|nm)=-0,08

Linm=1,63

thresholds

ta=0,00, £=0,00
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logarithmic [Vlo, o, L ] data Up=(A-550)/5(
L =(Mg*+ o)f2 log|Vlo=-0,35}u--]*
log 0=-0,350,-u 12

l0gL o=—0,35y~Us7g] 2

Adapt.: A\, =57

maximum

% Jog(L m)=-0,08
L m-0,01
thresholds

Y ta=0,00, £,=0,00
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oL Jdata  uy=(A-550)/5(
log/Vlo==0,35[u)~us]
log 0=-0,35l,-u 12
_o0=1-Mqg;  o=1- o
Aliant. N, =570
miaximum
! log(L m)=-0,08
' L m=081
thresholds
t2=0,00, £=0,00
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logarithmic [ Vin, n, Lin] data  Uy=(r-550)/5
L =(Mot+ o)f2=Mnt n log/Vlo=—0,35[u)~u:]
Lin=L . =(Mn*+ n)/2 log 0=-0,35[u\-u 12

log[Mn, n, Lin] n=2Vlo; n=2 o
Adapt.: A\, =570

U maximum
log(L |nm)=-0,08

Inm=1,

thresholds
ta=0,00, ,=0,00
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L =(VMo+ o)f2=Mp+ n  logVo=-0,35\~us:]?

L in=2-Lin log 0=-0,35[u\-u
log[V_n, ; =

0,57

\

_n L inl

7 maximum
log(L |nm)=-0,08
Inm=1,63
thresholds
tg=0,00, =0,00
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400
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o o L data
L .=(Mo+ o)/2

Ux=(A-550)/5(
log/Vlo=-0,35luy—u 2
log 0=-0,35l-u 12
|09|—0:‘0v35[u>\‘U57O]2

Adapt.: A\, =57

maximum

thresho]ds
ta=0,03, 1=0,00

Uy,

\

700 A/nm
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Ux=(A—550)/5(
log/Vlo==-0,35uy—u 2
log 0=-0,35l-u 12
0=1-Mo; o=1- o
Adapt.: A\, =57
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=9 0 /o %0g(L m)=-0,07
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L. =(Mo+ o)/2=Mn+ n

Lin=L . =(Mn+ n)/2
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L

\
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600
Ur=(A-550)/5(
logVlo=-0,35[Uy~U-.]?
log 0=-0,35lu-u 12

n=2Mo; n=2 o

Adapt.: A\, =57

2

maximum
log(L |nm)=-0,07
Linm=1,69
thresholds
ta=0,03, 4=0,00

n _n L ndata

L. =(Mo+ o)/2=Mn+ n

L in=2-Lin
I |—_In

Uy=(\-550)/5(
logVo=-0,35[Uy~Us.]?
log ¢=-0,35[u)-u 12

n=2-Mn; _n=2- n

T
S0 2 09(L|nm)=-0,07

/" Linm=1,69

thresholds

ta=0,03, ,=0,00
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\
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TUB-test chart EE62; Relative elementary colour vision

700 A/nm
EE621-7N

Sensitivities logLMS-R17_M$and combinations; thresholg=D,00 (left) and 0,03 (right)
Y

logarithmic [Vlo, o, L ]data
L =(Mot+ o)/2

Ux=(A-550)/

log/Vlg==0,35[uy~u 2

log 0=-0,350,-u 12

logLo=-0,35[y~Us7d?

570 Adapt.: A, =570
= maximum

o FUN ol oo
threrghovlds

\‘ ta=0,03, 1t=0,00

log[Mo, o L]

EE621-2N
oL Jdata uy=(A-550)/5(
log/Vlo=—0,35[u)~Uu:]
log 0=-0,350,-u 12
o=1- o

0=1-VMo;

4raximum

" gL m)=-0,07
L m=0,84
thresholds
tg=0,03, =0,00

logarithmic [Vin, n, Lin] data
L =(Mot o)f2=Mnt n
Lin=L .=(Mnt+ n)/2
log[Mn, n, Lin]

0,5

Ux=(A-550)/50
logVlg=—0,35[u)~Uu:]
log 0=-0,35[u)-u 12
n=2Vlo; n=2 o
Adapt.: A, =570
maximum
log(L |nm)=-0,07
Inm=1,69
thresholds
ta=0,03, 1t=0,00

lin:545, 570, 595
logarithmic [V n, _n, L n] data
L .=(Mo*+ o)f2=Mn+ n
L_in=2-Lin
log[V_n, _nx|:

EE621-6N
Ux=(A-550)/5(
log/Vlg=—0,35[u)~Uu:.]
log 0=-0,35[u)-u 12

n=2-Mn,  n=2— n

Inl
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/ maximum
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L )" Linm=1,69
_In thresholds
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